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34K 17K 11K
720<i  720<| 720<i 720<| 720< 720<
3LOG 72.0<i 720<| 720<i 720<| 720< 720<
193 159| 201 232 358 278
7.3 39| 171% 112| 238:i 158
145 126| 2371 193 298 235
2.5 06| 117 73| 178 115
8.7 80| 129 109| 119 108
0.0 0.0 0.9 0.0 0.0 0.0
8.2 75| 132 108 151: 123
0.0 0.0 1.2 0.0 3.1 0.3
5.7 5.3 36 2.6 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
7LOG 0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
BOD 0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0 0.0
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